
Plug-in unitsOverview  . . . . . 0

Cabinets . . . . . . 1

Wall mounted 
cases  . . . . . . . . 2 

Accessories for
cabinets and wall
mounted cases  3

Climate control  4

Desk-top cases  5

Subracks/ 
19" chassis  . . . 6

Front panels, 
plug-in units  . . 7

Systems . . . . . . 8

Power supply 
units . . . . . . . . . 9

Backplanes  . . 10

Connectors, front 
panel component 
system . . . . . . 11

Appendix . . . . 12 Downloads and further important information can be found 
on the Internet under www.schroff.biz

7.16 Main Catalogue
E  10/2012

Main Catalogue

Plug-in unitsMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Plug-in units as kits or from individual parts
�  Handles in different designs for various applications

� Inserter/extractor handles for forces up to 1500 N

�  Upgradable EMC shielding 

04612001

Standards
� IEC 60297-3-101 / IEEE 1101.1/11

IEC 60297-3-102 / IEEE 1101.10
IEC 60297-3-103
IEC 1296

ServicePLUS
e.g. individual configuration and assembly

e.g. modifications (special colours or sizes)

e.g. custom solutions with modification
to the plug-in units

www.frontpanelexpress.eu
30407004

7_2_steckbaugruppen_e.fm  Seite 16  Mittwoch, 19. September 2012  1:05 13



Plug-in units

7.17Main Catalogue
E  10/2012

Handles for plug-in units Kit Individual 
components

Page Page

For CompactPCI and VME64x 
applications  
Inserter/extractor handle, type IEL/IET, allows 
keying/coding and insertion/extraction forces 
up to 700 N per pair

 7.18  7.19

04603002

For VPX, VXS, CompactPCI and VME64x 
applications
Inserter/extractor handle, type XL, allows 
keying/coding and insertion/extraction forces 
up to 1500 N per pair

–  7.29

04605005

For e.g. VMEbus applications
Trapeziform extractor handle, type 2

 7.31  7.33

04604059

For e.g. VMEbus applications
Trapeziform extractor handle, type 1

 7.38  7.40

04692008

For Multibus® II applications
Extractor handle, multibus type II, IEC 60297

–  7.44

04692011

For plug-in units in accordance with 
IEC 60297
Extractor handle in key form 1

–  7.46

04692008

For plug-in units in accordance with 
IEC 60297
Extractor handle in key form 2

–  7.49

04692010

For plug-in units in accordance with 
IEC 60297
Static handle

 7.52  7.54

04692003

Accessories for plug-in units
Mechanical protection for static trapeziform 
handle and fixing materials kit

 7.62 –

04692004

Serviceleistu
ng

Seite . . 
. . .

 . . 
. . .

 . . 
. 6

Aussc
hreibungsmappe

Seite . . 
. . .

 . . 
. . .

 . . 
. 7

Planungsso
ftw

are

MicroTCA

Overview  . . . .  7.17

Plug-in units with 
injector and extractor 
handles

For CompactPCI 
and VME64x 
applications   . . .  7.18

For VPX, VXS, 
CompactPCI and 
VME64x 
applications  . . .  7.29

For e.g. VMEbus 
applications
type 2 . . . . . . . . . .  7.31

For e.g. VMEbus 
applications
type 1 . . . . . . . . .  7.38

For Multibus® II 
applications . . . .  7.44

For plug-in units 
in accordance 
with IEC 60297 . .  7.46

For plug-in units 
in accordance 
with IEC 60297 . .  7.49

For plug-in units 
in accordance 
with IEC 60297 . .  7.52

Accessories for 
plug-in units . . . .  7.60

PCB cover . . . . . .  7.62

7_2_steckbaugruppen_e.fm  Seite 17  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.18 Main Catalogue
E  10/2012

Plug-in units – for CompactPCI, VME64x

for CompactPCI, VME64xMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

� In accordance with IEEE 1101.10 and IEC 60297-3-102

� Codable to IEC 60297-3-103/ IEEE 1101.10

� Front panel shielded

� Suitable for insertion and extraction forces up to 700 N 
(per pair)

� Suitable for fitting microswitches

Delivery comprises (kit)

Order Information

� Dimension drawing of front profile see page 7.25
� Description of microswitch see page  7.29

Kits Plug-in units with IEL inserter/extractor 
handle for CompactPCI/VME64x applications

3 U

04602073

6 U

04602074

Item Qty Description
3 U 6 U

<8HP ≥8HP <8HP ≥8HP
1 1 1 1 1 Front panel (U profile), AI, 

front anodised, rear conductive
2 1 1 1 1 EMC sealing (textile),

core: foam,
sleeve: textile cladding, CuNi coated

3 1 1 2 2 Handle with integrated alignment pin 
for perforated strips and guide rails, 
lever: plastic, PC, black, RAL 9005 
key: plastic, PC, light grey, 
RAL 7035

4 1 1 - - Board support, die-cast zinc
5 1 1 - - Raised Pozidrive countersunk screw 

M2.5 × 8, St, nickel-plated
6 1 3 - 2 Sleeve, PA, grey
7 2 4 2 4 Pozidrive collar screw, 

M2.5 × 12.3, St, nickel-plated
8 2 2 2 2 Panhead screw with Torx/slot, 

M2.5 × 6, St, 
zinc-plated, self-locking

9 2 2 2 2 Washer A2.7, DIN 125, St, 
nickel-plated

10 1 1 2 2 Panhead screw with Torx, M2.5 × 7, 
St, nickel-plated

Width Part no. Part no.
HP Rear I/O Front 

assembly
3 U Height

4 20848-751 20848-585
6 - 20848-587
8 20848-752 20848-589
10 - 20848-590
12 - 20848-591

6 U Height
4 - 20848-592
6 - 20848-594
8 - 20848-596
10 - 20848-597
12 - 20848-598
Accessories
Microswitch for handles, 
CompactPCI/VME64x application  PU 10 pieces 20817-606

7_2_steckbaugruppen_e.fm  Seite 18  Mittwoch, 19. September 2012  1:05 13



7.19

Plug-in units – for CompactPCI, VME64x

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Order Information

Individual 
components Front panels, U-profiles, for extractor handles, type IEL, IET

Front panel, U profile, shieldable Textile EMC gasket Front panel, 
flat, 

unshielded,
front 

mounting

Front 
mounting

Front 
mounting, 
PCB fixing 
with 0.1" 

offset

Rear I/O 
mounting

04608060 04608062 04608061 BGA45760 04608063

Al extrusion, 2.5 mm, front anodised,
rear conductive; alignment pin pressed-in (3 U only), 

stainless steel; manufacturing process causes 
various surface structures to appear 
between 4 to 12 HP and 14 to 16 HP 

always fixed laterally on the front 
panel, in the groove of the profile,

textile gasket, core: foam, 
sleeve: textile cladding with 
CuNi coating, UL 94 V-0, 

temperature range -40 ... 70 °C

front panel, Al, 
2.5 mm, 

front anodised, 
rear irisdescent 

green 
chromated

Width 1 piece 
(SPQ 5)1)

1 piece 
(SPQ 5)1)

1 piece 
(SPQ 5)1)

PU 10 pieces PU 100 pieces 1 piece 
(SPQ 5)1)

HP
3 U Height

4 30848-312 30848-426 30848-867

21101-853 21101-854

30848-327
5 30848-300 30848-427 – 30848-328
6 30848-313 30848-428 – 30848-329
7 30848-301 30848-429 – 30848-330
8 30848-314 30848-430 30848-869 30848-331
9 20848-227 – – –
10 30848-315 30848-431 – 30848-333
11 20848-228 – – –
12 30848-316 30848-432 30848-985 30848-335
14 20848-230 – – –

04608067 16 20848-232 – – –
6 U Height

4 30848-317 30848-317 30848-317

21101-855 21101-856

30848-336
5 30848-304 30848-304 30848-304 30848-337
6 30848-318 30848-318 30848-318 30848-338
7 30848-305 30848-305 30848-305 30848-339
8 30848-319 30848-319 30848-319 30848-340
9 20848-243 20848-243 20848-243 –
10 30848-320 30848-320 30848-320 30848-342
11 20848-244 20848-244 20848-244 –
12 30848-321 30848-321 30848-321 30848-344
14 20848-246 20848-246 20848-246 –

04608066 16 20848-248 20848-248 20848-248 –
Fixing material see page  7.22  7.22  7.22  7.22
Dimensions see page  7.25  7.25  7.24  7.26
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU

4,07

2,5

6,61

2,5
4,07

2,5
4,07

7_2_steckbaugruppen_e.fm  Seite 19  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.20 Main Catalogue
E  10/2012

Plug-in units – for CompactPCI, VME64x

Order Information

Individual 
components Inserter/extractor handle, type IEL

Inserter/extractor handle, type IEL,
board fixing without offset

Inserter/extractor handle, type IEL,
board fixing with 0.1" offset

lever: light grey, RAL 7035 
key: black, RAL 9005

lever: black, RAL 9005 
key: light grey, RAL 7035

lever: light grey, RAL 7035 
key: black, RAL 9005

lever: black, RAL 9005 
key: light grey, RAL 7035

04608050 04608052 04608051 04808074

in accordance with IEEE 1101.10 and IEC 60297-3-102,
with locking,

suitable for insertion and extraction forces up to 700 N (per pair), 
suitable for fitting of microswitches;
block die-cast zinc, nickel-plated, 

with integrated alignment pin for perforated strip, 
codable to IEEE 1101.10 and IEC 60297-3-103,

lever/key UL 94 V-0,
slotted Pozidrive collar screw, M2.5 x 12.3, St, nickel-plated,

panhead screw with Torx, M2.5 x 7, St, nickel-plated

in accordance with IEEE 1101.10 and IEC 60297-3-102, 
with locking,

suitable for insertion and extraction forces up to 700 N (per pair), 
suitable for fitting of microswitches; 

0.1" offset is used for PSUs with SMD Plus,
block die-cast zinc, nickel plated;

with integrated alignment pin for perforated strip, 
codable to IEEE 1101.10 and IEC 60297-3-103, 

lever/key UL 94 V-0, 
slotted Pozidrive collar screw, M2.5 x 12.3, St, nickel-plated, 

panhead screw with Torx, M2.5 x 7, St, nickel-plated

Assembly PU 10 pieces PU 100 pieces PU 10 pieces PU 100 pieces PU 10 pieces PU 100 pieces PU 10 pieces PU 100 pieces

3 U Height
bottom

Front side 20817-620 20817-621 20817-612 20817-613 20817-690 20817-691 20817-682 20817-683

04608071

Rear I/O 20817-622 20817-623 20817-614 20817-615 – – – –

6 U Height
top

Front side 20817-622 20817-623 20817-614 20817-615 20817-692 20817-693 20817-684 20817-685

Rear I/O 20817-620 20817-621 20817-612 20817-613 – – – –

bottom

Front side 20817-620 20817-621 20817-612 20817-613 20817-690 20817-691 20817-682 20817-683

04608070

Rear I/O 20817-622 20817-623 20817-614 20817-615 – – – –

Dimensions see 
page  7.27  7.27

4,07
4,07

6,61
6,61

7_2_steckbaugruppen_e.fm  Seite 20  Mittwoch, 19. September 2012  1:05 13



7.21

Plug-in units – for CompactPCI, VME64x

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Main CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Order Information

Individual 
components Inserter/extractor handle, type IET

Inserter/extractor handle, type IET, 
board fixing without offset

Inserter/extractor handle, type IET,
board fixing with 0.1" offset

lever: light grey, RAL 7035 
key: black, RAL 9005

lever: black, RAL 9005 
key: light grey, RAL 7035

lever: light grey, RAL 7035 
key: black, RAL 9005

lever: black, RAL 9005 
key: light grey, RAL 7035

04608054 04608056 04608055 04808074

in accordance with IEEE 1101.10 and IEC 60297-3-102,
with locking,

suitable for insertion and extraction forces up to 700 N (per pair), 
suitable for fitting of microswitches;
block die-cast zinc, nickel-plated, 

with integrated alignment pin for perforated strip, 
codable to IEEE 1101.10 and IEC 60297-3-103,

lever/key UL 94 V-0,
Slotted Pozidrive collar screw, M2.5 x 12.3, St, nickel-plated,

panhead screw with Torx, M2.5 x 7, St, nickel-plated

in accordance with IEEE 1101.10 and IEC 60297-3-102, 
with locking,

suitable for insertion and extraction forces up to 700 N (per pair), 
suitable for fitting of microswitches; 

0.1" offset is used for PSUs with SMD Plus:
block die-cast zinc, nickel plated;

with integrated alignment pin for perforated strip, 
codable to IEEE 1101.10 and IEC 60297-3-103, 

lever/key UL 94 V-0, 
slotted Pozidrive collar screw, M2.5 x 12.3, St, nickel-plated, 

panhead screw with Torx, M2.5 x 7, St, nickel-plated

Assembly PU 10 pieces PU 100 pieces PU 10 pieces PU 100 pieces PU 10 pieces PU 100 pieces PU 10 pieces PU 100 pieces

3 U Height
bottom

Front side 20817-660 20817-661 20817-652 20817-653 20817-714 20817-715 20817-706 20817-707

04608073

Rear I/O 20817-662 20817-663 20817-654 20817-655 – – – –

6 U Height
top

Front side 20817-662 20817-663 20817-654 20817-655 20817-716 20817-717 20817-708 20817-709

Rear I/O 20817-660 20817-661 20817-652 20817-653 – – – –

bottom

Front side 20817-660 20817-661 20817-652 20817-653 20817-714 20817-715 20817-706 20817-707

04608072

Rear I/O 20817-662 20817-663 20817-654 20817-655 – – – –

Fixing material
see page  7.22  7.22

Dimensions 
see page  7.28  7.28

4,07
4,07

6,61
6,61

7_2_steckbaugruppen_e.fm  Seite 21  Samstag, 13. Oktober 2012  10:47 10



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.22 Main Catalogue
E  11/2013

Plug-in units – for CompactPCI, VME64x

Order Information

Individual 
components inserter/extractor handles, type IEL/IET, fixing material

3 U 6 U

top

bottom

04609050 04609051

Fixing material Item Required quantity Qty/PU Part no.
3 U 3 U 6 U

< 8 HP ≥ 8 HP < 8 HP ≥ 8 HP

Printed board bracket
Zn die-cast

1 1 1 – – 1 piece 
(SPG 10)1) 60807-181

06707050

Pozidrive panhead screw
M2.5 × 6, St, nickel-plated , not for 0.1" offset 3 2 2 2 2 100 21101-219

AZA45177

Slotted panhead screw with Torx 8
M2.5 × 6, St, zinc-plated, self-securing thread
not for 0.1" offset

3a 2 2 2 2 100 24560-159

aza45940

Washer
2.7, DIN 125, St, nickel-plated

4 2 2 2 2 100 21100-721

AZA46586

Raised Pozidrive countersunk panhead screw
M2.5 × 8, St, nickel-plated 5 1 1 – – 100 21100-429

06702056

Raised countersunk panhead screw with Torx 8
M2.5 × 8, St, nickel-plated 5a 1 1 – – 100 24560-164

06708050

Pozidrive/slotted collar screw 
M2.5 × 12.3, St, nickel-plated 6 1 3 – 2 100 21101-101

AZA46586 AZA46586

Plastic sleeve, for form hole 5.9 x 3.3
PA, UL 90 V-2, grey

7 1 3 – 2 100 21100-464

aza45933

Metal sleeve, for form hole 5.9 x 3.3, press-in
Stainless steal

7a 1 3 – 2 100 21100-662

aza45934

Pozidrive panhead screw
for IEL/IET handle with 0.1" offset
M2.5 × 10, nickel-plated steel

8 2 2 2 2 100 21101-220

AZA45177

Torx panhead screw
M2.5 × 7, St, nickel-plated, Torx 8, 9 1 1 2 2 100 24560-147

aza45940

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

4

3 / 3a / 8

1

5 / 5a

6

6

7 / 7a

4

3 / 3a / 8

9

4

4

3 / 3a / 8

6

3 / 3a / 8

6

9

9



7.23

Plug-in units – for CompactPCI, VME64x

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  12/2013

Order Information

Individual 
components Inserter/extractor handles, type IEL/IET, accessories

Microswitch Keying/coding Label strips Label strips

with cable and plug in accordance with 
IEC 60297-3-103

19 x 9.5 mm 19 x 9.5 mm 19 x 4.8 mm

bga46314 bga46315 04612052 04808074 04808074

Molex connector housing 
51021-0300, 

Molex crimp contact 50058-8000 
and fixing clip (item 3), 
plastic, PC, UL 94 V-0, 

max. switched current 50 mA, 
operating range -25 °C to +70 °C, 

mech. life 
≥ 20,000 switching cycles, 

electr. life ≥
20,000 switching cycles;

suitable mating connectors (item 2) 
e.g. Molex 53261-0319, 

53048-0310, 53047-0310, 
53398-0319, 51047-0300 not 
included in scope of delivery

The keying/coding pegs prevent 
plug-in units to be mounted in wrong 

slots. They are inserted in the 
chambers of the codable card 

guides as well as in the insertion/
extraction handles IEL or IET 

(4 possible positions), resulting in 
64 codings per card guide; 

when coding the upper and lower 
card guide, 4096 codings will result;

guide rails for coding see page
 6.38

Polyester, self-adhesive,white, 
1 sheet 210 pieces (Item 1)

Polyester, 
self-adhesive,

white, 
1 sheet 

210 pieces 
(item 1)

Polyester, 
self-adhesive,

white, 
1 sheet 

320 pieces 
(item 2)

PU 10 pieces PU 100 pieces PU 210 pieces PU 210 pieces PU 320 pieces

3 U Height
bottom

20817-606 20817-501 60817-340 60817-340 60817-341

6 U Height
top

20817-606 20817-501 60817-340 60817-340 60817-341

bottom

20817-606 20817-501 60817-340 60817-340 60817-341

1

2

1

1

1

2



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.24 Main Catalogue
E  10/2012

Plug-in units – for CompactPCI, VME64x

Text

Text

20.2d

b

12
8.

4

11
5.

2

11
5.

2

YX

YX

7.457.45 5.085.08

d

3
3

3 14
.7

14
.7

9.99

2.6ø

2.3

6.
032.

7

8.
4

7.7

13.8

3.3

9.99

2.6ø

2.3

6.
032.

7

8.
4

7.7

13.8

3.3

bb

cc 0.90.9

6.
2 55

6.
2

2.5ø2.5ø

2.
5

2.
5

ø 2.5 ø 2.5

26
1.

75

23
5.

4

23
5.

4

YX

20.2d

b

d

3
3

YX
9.99

2.6ø

2.3

6.
032.

7

8.
4

7.7

13.8

3.3

9.99

2.6ø

2.3

6.
032.

7

8.
4

7.7

13.8

3.3

b

c 0.9

5

6.
2

2.5ø

2.
5 b

c 0.9

6.
2 5

2.5ø

2.
5

Dimensions Front panels, U-profiles, inserter/extractor handles, type IEL/IET, rear I/O, 
shieldable
PCB fixing without offset

3 U 6 U

04608068 04608076

04608069 04608075

4 HP ≥5 HP 4 HP ≥5 HP

Dimensions table
Width b c d

HP mm mm mm
4 19.98 17.45 –
5 25.06 22.53 –
6 30.14 27.61 –
7 35.22 32.69 –
8 40.30 37.77 7.45
9 45.38 42.85 7.45
10 50.46 47.93 7.45
11 55.54 53.01 7.45
12 60.62 58.09 7.45
14 70.78 68.25 7.45
16 80.94 78.41 7.45

7_2_steckbaugruppen_e.fm  Seite 24  Mittwoch, 19. September 2012  1:05 13



7.25

Plug-in units – for CompactPCI, VME64x

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Text

Text

20.2 d

b

12
8.

4

11
5.

2

11
5.

2

YX

YX

7.45

e

7.45

e

5.085.08

d

3
3

3 14
.7

14
.7

9.999.99

2.6ø2.6ø

2.32.3

6.
03

6.
03 2.

7

2.
7

8.
4

8.
4

7.77.7

13.813.8

3.33.3

bb

cc 0.90.9

6.
255

6.
2

2.5ø2.5ø

2.
5

2.
5

ø 2.5 ø 2.5

YX
9.999.99

2.6ø2.6ø

2.32.3

6.
03

6.
03 2.

7

2.
7

8.
4

8.
4

7.77.7

13.813.8

3.33.3

26
1.

75

23
5.

4

23
5.

4

YX

20.2 d

b

d

3
3

bb

cc 0.90.9

6.
2

6.
2

2.5ø

2.
5

2.
5

ø 2.5

Dimensions Front panels, U-profiles, inserter/extractor handles, type IEL, IET, 
shieldable
PCB fixing without offset / with 0.1" offset

3 U 6 U

04608067 04608066

04608064 04608065

4 HP ≥5 HP 4 HP ≥5 HP

YX
9.999.99

2.6ø2.6ø

2.32.3

6.
03

6.
03 2.

7

2.
7

8.
4

8.
4

7.77.7

13.813.8

3.33.3

26
1.

75

23
5.

4

23
5.

4

YX

20.2 d

b

d

3
3

Dimensions table
without offset with 0.1" offset

Width b c d e e
HP mm mm mm mm mm
4 19.98 17.45 – 7.45 9.99
5 25.06 22.53 – 7.45 9.99
6 30.14 27.61 – 7.45 9.99
7 35.22 32.69 – 7.45 9.99
8 40.30 37.77 7.45 7.45 9.99
9 45.38 42.85 7.45 7.45 9.99

10 50.46 47.93 7.45 7.45 9.99
11 55.54 53.01 7.45 7.45 9.99
12 60.62 58.09 7.45 7.45 9.99
14 70.78 68.25 7.45 7.45 9.99
16 80.94 78.41 7.45 7.45 9.99

7_2_steckbaugruppen_e.fm  Seite 25  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.26 Main Catalogue
E  10/2012

Plug-in units – for CompactPCI, VME64x

Text

Text

20.2 d

b

12
8.

4

11
5.

2

11
5.

2

YX

YX

7.457.45 d

3
3

3 14
.7

14
.7

9.999.99

2.6ø2.6ø

2.32.3

6.
03

6.
03 2.

7

2.
7

8.
4

8.
4

7.77.7

13.813.8

3.33.3

ø2.5 2.
5ø2.5

2.
5 2.
5

2.
5

YX
9.999.99

2.6ø2.6ø

2.32.3

6.
03

6.
03 2.

7

2.
7

8.
4

8.
4

7.77.7

13.813.8

3.33.3

26
1.

75

23
5.

4

23
5.

4

YX

20.2 d

b

d

3
3

Dimensions Front panels, inserter/extractor handles, type IEL/IET, unshielded

PCB fixing without offset

3 U 6 U

04608080 04608079

04608077 04608078

4 HP ≥5 HP 4 HP ≥5 HP

Dimensions table
Width b d

HP mm mm
4 19.98 –
5 25.06 –
6 30.14 –
7 35.22 –
8 40.30 7.45
9 45.38 7.45

10 50.46 7.45
11 55.54 7.45
12 60.62 7.45
14 70.78 7.45
16 80.94 7.45

7_2_steckbaugruppen_e.fm  Seite 26  Mittwoch, 19. September 2012  1:05 13



7.27

Plug-in units – for CompactPCI, VME64x

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Text

Text

Dimensions Inserter/extractor handle, type IEL

04608071 04608070

04608050 04603059

bottom

04607053

top

04607054

4,07

3
,8

8
,5

5
8
,1

5

Ø
2
,9

5

2
6

35

22,75

12,75

2,5

2,5

6,1

3,6

2,5

4
,0

7

2
,5

4

2
,5

4

7
,6

2

2
0

4
,0

7

2
,5

4

2
,5

4

7
,6

2

2
0

Dimensions Inserter/extractor handle, type IEL, 0.1" offset

04608071 04608070

04608051 04603059

bottom

04603061

top

04607055

6,61

3
,8

8
,5

5
8
,1

5

Ø
2

,9
5

2
6

35

22,75

12,75

2,5

2,5

6,1

3,6

2,5

6
,6

1

2
,5

4

2
,5

4

7
,6

2

2
0

6
,6

1

2
,5

4

2
,5

4

7
,6

2

2
0

7_2_steckbaugruppen_e.fm  Seite 27  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.28 Main Catalogue
E  10/2012

Plug-in units – for CompactPCI, VME64x

Text

Text

Dimensions Inserter/extractor handle, type IET

04608073 04608072

04608054 04603060

bottom

04607056

top

04607057

4,07

4
5

14

22.75

12.75

2.5

2.5

6.1

3.6

2.5

3
,8

8
,5

5
8

,1
5

Ø
2

,9
5

2
6

4
,0

7

2
,5

4

2
,5

4

7
,6

2

2
0

2
0

4
,0

7

2
,5

4

2
,5

4

7
,6

2

Dimensions Inserter/extractor handle, type IET, 0.1" offset

04608073 04608072

04608055 04603060

bottom

04603062

top

04607058

6,61

4
5

14

22.75

12.75

2.5

2.5

6.1

3.6

2.5

3
,8

8
,5

5
8

,1
5

Ø
2

,9
5

2
6

6
,6

1

2
,5

4

2
,5

4

7
,6

2

2
0

2
0

6
,6

1

2
,5

4

2
,5

4

7
,6

2

7_2_steckbaugruppen_e.fm  Seite 28  Mittwoch, 19. September 2012  1:05 13



7.29

Plug-in units – for CompactPCI, VME64x, VXS, VPX

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  12/2012

for CompactPCI, VME64x, VXS, VPX

Note
� Please order front panels separately

Individual 
components Inserter/extractor handle, type XL, front panels, microswitch

Inserter/extractor handle, 
type XL

U front profile, shieldable, for 
inserter/extractor handle, 

type XL

EMC gasket (textile) Microswitch
item 1

without 
cut-out for 

microswitch

with
cut-out for 

microswitch

 with cable and plug 

04805008 04608081 04608082 04608083 BGA45760 04608084 bga46315

kit, incl. die-cast bearing and 
assembly kit;

insertion and extraction force up 
to 1500 Nm per pair; 

handle in PA, fibreglass 
reinforced, UL 94V 0;

robust board fixing with double 
bolt fixing, microswitches can 

be fitted

Al, 
front anodised,
sides and rear 

conductive,
for sleeve and 
collar screw 

see page 
 7.35

Al, 
front anodised,
sides and rear 

conductive
for sleeve and 
collar screw

see page 
 7.35

always fixed laterally on the front 
panel, in the groove of the profile,

textile gasket, 
core: foam, 

sleeve: textile cladding with 
CuNi coating, 

UL 94 V-0

Molex connector housing 
51021-0300, 

Molex crimp contact 50058-8000 
and fixing clip (item 3), plastic, 

PC, UL 94 V-0, 
max. switched current 50 mA, 

operating range -25 °C to +70 °C, 
mech. life 

≥ 20,000 switching cycles, 
electr. life 

≥ 20,000 switching cycles;
suitable mating connector 

(item 2) e.g. Molex 53261-0319, 
53048-0310, 53047-0310, 
53398-0319, 51047-0300, 

not included in scope of delivery

Width PU 10 pieces 1 piece (SPQ 
5)1)

1 piece (SPQ 
5)1)

PU 10 pieces PU 100 pieces PU 10 pieces
HP

6 U Height
4

20817-874
30849-153 30849-154

21101-855 21101-856 20817-8778 30849-155 30849-156
12 30849-157 30849-158

Dimensions see page  7.30  7.30  7.30
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple 
Part no. includes one packing unit (PU); delivery is exclusively made in PU

4,07

2,5

4,07

2,5
1

3

2



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.30 Main Catalogue
E  10/2012

Plug-in units – for CompactPCI, VME64x, VXS, VPX

Text

Text

Dimensions U front profile for extractor handle type XL, shieldable

6 U/4 HP 6 U/8 HP 6 U/12 HP

04605053 04605054 04605055

Dimensions Inserter/extractor handle, type XL

04608113

10

3,6

5,
6

30
7,

75

9

11,7

19,8

15
3,

2
18

0

23
0,

85

14
,2

14
,2 32,85

40,3

26
1,

75

3
3

15
,4

5
15

,4
5

30
7,

75

9

11,7

20,5

19,8

15
3,

2
18

0

14
,2

14
,2 53,17

60,62

26
1,

75

3
3

15
,4

5
15

,4
5

30
7,

75

9

11,7

20,5

19,8

15
3,

2
18

0

7_2_steckbaugruppen_e.fm  Seite 30  Mittwoch, 19. September 2012  1:05 13



7.31

Plug-in units – for VME

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

3 U

04604050

6 U

04604051

for VMEMain Catalogue

� Shielded

Delivery comprises (kit)

Order Information

� Dimension drawings of front profile see page 7.36
� Description of microswitch see page  7.29

Kits Plug-in units with trapeziform extractor 
handle, type 2

Item Qty Description
3 U 6 U

<8HP ≥8HP <8HP ≥8HP
1 1 1 2 2 Identification plate, Al, 1.5 mm,

anodised, cut edges untreated
2 1 1 2 2 Extractor handle, trapeziform,

type 2, lever: PPE, light grey, 
RAL 7035, block die-cast zinc, 
nickel-plated, with integrated 
alignment pin for perforated strip

3 1 1 2 2 Pozidrive flathead screw, St, 
M2.5 x 6, nickel-plated

4 1 1 1 1 Front panel, U profile, AI, 
front anodised, rear conductive

5 1 1 – – Raised Pozidrive countersunk
screw M2.5 × 8, St, nickel-plated

6a

6b

2

2

4

4

2

2

4

4

Pozidrive collar screw,
M2.5 × 12.3, St, nickel-plated,
collar screw, Pozidrive/slot,
M2.5 × 11, St, nickel-plated,

7 1 3 – 2 Sleeve, PA, grey
8 2 2 2 2 Washer A 2.7, DIN 125
9 2 2 2 2 Panhead screw with Torx/slot,

M2.5 x 6, St, zinc-plated, 
self-locking

10 1 1 – – Board support, die-cast zinc
11 1 1 1 1 EMC sealing (textile), core: foam, 

sleeve: textile cladding, 
Cu-Ni coated

Height Width Part no.
U HP
3 4 20848-686
3 6 20848-687
3 8 20848-688
3 10 20848-689
3 12 20848-690
6 4 20848-691
6 6 20848-692
6 8 20848-693
6 10 20848-694
6 12 20848-695

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 31  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.32 Main Catalogue
E  10/2012

Plug-in units – for VME

Main Catalogue

� Unshielded

Delivery comprises (kit)

Order Information

� Dimension drawing of front profile see page 7.36
� Description of microswitch see page  7.29

Kits Plug-in units with trapeziform extractor 
handle, type 2

3 U

04604052

6 U

04604053

Item Qty Description
3 U 6 U

<8HP ≥8HP <8HP 8 HP
1 1 1 2 2 Identification plate, Al, 1.5 mm,

anodised, cut edges plain
2 1 1 2 2 Extractor handle, trapeziform,

type 2, lever: PPE, light grey, 
RAL 7035, block: die-cast zinc, 
nickel-plated

3 1 1 2 2 Flathead screw M2.5 x 6, 
nickel-plated

4 1 1 1 1 Front panel, Al, 2.5 mm,
front: anodised, 
rear: irisdescent green chromated

5 1 1 – – Raised Pozidrive countersunk
screw, M2.5 × 8, St, nickel-plated

6a

6b

2

2

4

4

2

2

4

4

Slotted Pozidrive collar screw,
M2.5 x 12.3, St, nickel-plated,
slotted Pozidrive collar screw,
M2.5 x 11, St, nickel-plated

7 1 3 – 2 Sleeve, PA, grey
8 2 2 2 2 Washer A 2.7, DIN 125
9 2 2 2 2 Slotted Torx panhead screw,

M2.5 x 6, St, zinc-plated, 
self-locking

10 1 1 – – Board support, die-cast zinc

Height Width Part no.
U HP
3 4 20817-860
3 5 20817-861
3 6 20817-862
3 7 20817-863
3 8 20817-864
3 10 20817-865
3 12 20817-866
6 4 20817-867
6 5 20817-868
6 6 20817-869
6 7 20817-870
6 8 20817-871
6 10 20817-872
6 12 20817-873

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 32  Mittwoch, 19. September 2012  1:05 13



7.33

Plug-in units – for VME

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Main Catalogue

Order Information

Individual 
components U front profiles/front panels for trapeziform extractor handle, type 2

Front panel, U profile, 
shieldable

Textile EMC gasket Front panel, flat, 
unshielded

04608060 BGA45760 04608063

Al extrusion, 2.5 mm, 
front anodised, 

rear conductive; alignment pin 
pressed-in (3 U only), 

stainless steel; manufacturing 
process causes various 

surface structures to appear 
between 4 to 12 HP and 

14 to 16 HP

always fixed laterally on the front panel, 
in the groove of the profile,
textile gasket, core: foam, 

sleeve: textile cladding with CuNi coating, UL 94 V-0, 
temperature range -40 ... 70 °C

Front panel, Al, 2.5 mm, 
front anodised, rear 

irisdescent green chromated

Width 1 piece (SPQ 5)1) PU 10 pieces PU 100 pieces 1 piece (SPQ 5)1)

HP

3 U Height
4 30848-312

21101-853 21101-854

30848-327
5 30848-300 30848-328
6 30848-313 30848-329
7 30848-301 30848-330
8 30848-314 30848-331
10 30848-315 30848-333

04608109 12 30848-316 30848-335

6 U Height
4 30848-317

21101-855 21101-856

30848-336
5 30848-304 30848-337
6 30848-318 30848-338
7 30848-305 30848-339
8 30848-319 30848-340
10 30848-320 30848-342

04608107 12 30848-321 30848-344
Dimensions see page  7.36  7.36
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple 
Part no. includes one packing unit (PU); delivery is exclusively made in PU

4,07 4,07

7_2_steckbaugruppen_e.fm  Seite 33  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.34 Main Catalogue
E  10/2012

Plug-in units – for VME

Order Information

Individual 
components Extractor handle, trapeziform, type 2

Trapeziform extractor handle, type 2
without alignment pin

Trapeziform extractor handle, type 2
with alignment pin

lever, 
light grey, 
RAL 7035

lever, 
dark grey, 
RAL 7032

lever, 
black, 

RAL 9005

lever, 
light grey, 
RAL 7035

lever, 
dark grey, 
RAL 7032

lever, 
black, 

RAL 9005

04608085 BGA45760 04608087 BGA45760 04608086 04608087

Extractor handle, PPE; block, die-cast zinc, 
zinc-plated; identification plate, Al, 1.5 mm, 

anodised, cut edges plain;
Pozidrive flat-head screw, M2.5 x 6, nickel-plated; 

slotted Pozidrive collar screw, M2.5 x 12.3, St, 
nickel-plated; 

slotted Pozidrive collar screw, M2.5 × 11, St, 
nickel-plated,

Extractor handle, PPE; block, die-cast zinc, 
zinc-plated; Identification plate, Al, 1.5 mm, 

anodised, cut edges plain; 
Pozidrive flat-head screw, M2.5 x 6, nickel-plated; 

slotted Pozidrive collar screw, M2.5 x 12.3, St, 
nickel-plated; 

slotted Pozidrive collar screw, M2.5 × 11, St, 
nickel-plated,

Width 1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

HP
3 U Height
bottom

20817-858 20817-854 20817-856 20817-833 20817-829 20817-831
04608114

6 U Height
top

20817-858 20817-854 20817-856 20817-833 20817-829 20817-831

bottom

20817-858 20817-854 20817-856 20817-833 20817-829 20817-831
04608115

Dimensions see page  7.37  7.37
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple 
Part no. includes one packing unit (PU); delivery is exclusively made in PU

7_2_steckbaugruppen_e.fm  Seite 34  Mittwoch, 19. September 2012  1:05 13



7.35

Plug-in units – for VME

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  11/2013

Order Information

Individual 
components Fixing material for trapeziform extractor handle, type 2

bga46045

Fixing material Item Required quantity Qty/PU Part no.
3 U 6 U

< 8 HP ≥ 8 HP < 8 HP ≥ 8 HP

Printed board bracket
Zn die-cast

1 1 1 – – 1 Stück 
(LLG 10)1) 60807-181

06707050

Pozidrive panhead screw
M2.5 × 6, St, nickel-plated

3 2 2 2 2 100 21101-219

AZA45177

Slotted panhead screw with Torx 8
M2.5 × 6, St, zinc-plated
Self-securing thread

3a 2 2 2 2 100 24560-159

aza45940

Washer
2.7, St, nickel-plated

4 2 2 2 2 100 21100-721

AZA46586

Raised Pozidrive countersunk panhead screw
M2.5 × 8, St, nickel-plated

5 1 1 – – 100 21100-429

06702056

Raised countersunk panhead screw with Torx 8
M2.5 × 8, St, nickel-plated

5a 1 1 – – 100 24560-164

06708050

Slotted Pozidrive collar screw
M2.5 × 11, St, nickel-plated 6 1 3 – 2 100 21100-748

AZA46586 AZA46586

Slotted Pozidrive collar screw 
M2.5 × 12.3, St, nickel-plated 6a 1 3 – 2 100 21101-101

AZA46586 AZA46586

Plastic sleeve, for form hole 5.9 x 3.3
PA, UL 90 V-2, grey

7 1 3 – 2 100 21100-464

aza45933

Metal sleeve, for form hole 5.9 x 3.3, press-in
Stainless steal

7a 1 3 – 2 100 21100-662

aza45934

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple 

7 / 7a

6 / 6a

5 / 5a

4

1

3 / 3a



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.36 Main Catalogue
E  10/2012

Plug-in units – for VME

Text

Text

Dimensions Front panels, U profiles, for trapeziform extractor handles, type 2

3 U 6 U

04608109 04608107

shieldable

unshielded

04608064 04608077 04608065 04608078

4 HP ≥5 HP   4 HP ≥5 HP

20.2 d

b

12
8.

4

11
5.

2

11
5.

2

YX

YX

7.45

e

7.45

e

5.085.08

d

3
3

3 14
.7

14
.7

9.999.99

2.6ø2.6ø

2.32.3

6.
03

6.
03 2.

7

2.
7

8.
4

8.
4

7.77.7

13.813.8

3.33.3

bb

cc 0.90.9

6.
255

6.
2

2.5ø2.5ø

2.
5

2.
5

ø 2.5 ø 2.5

YX
9.999.99

2.6ø2.6ø

2.32.3

6.
03

6.
03 2.

7

2.
7

8.
4

8.
4

7.77.7

13.813.8

3.33.3

26
1.

75

23
5.

4

23
5.

4

YX

20.2 d

b

d

3
3

bb

cc 0.90.9

6.
2

6.
2

2.5ø

2.
5

2.
5

ø 2.5

2.
5

2.
5ø2.5 2.

5ø2.5

2.
5

Dimensions table
Width b c d

HP mm mm mm
4 19.98 17.45 –
5 25.06 22.53 –
6 30.14 27.61 –
7 35.22 32.69 –
8 40.30 37.77 7.45
9 45.38 42.85 7.45
10 50.46 47.93 7.45
11 55.54 53.01 7.45
12 60.62 58.09 7.45
14 70.78 68.25 7.45
16 80.94 78.41 7.45

7_2_steckbaugruppen_e.fm  Seite 36  Mittwoch, 19. September 2012  1:05 13



7.37

Plug-in units – for VME

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

2,5 6,1

3,65

13,8

5,
9

3,
7

15
,4

19
,8

23
,4

4,
07

4,
07

2,5 6,1

3,65

13,8

5,
9

3,
7

15
,4

19
,8

23
,4

Dimension 
drawings Extractor handle, trapeziform, type 2

with alignment pin without alignment pin

7_2_steckbaugruppen_e.fm  Seite 37  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.38 Main Catalogue
E  10/2012

Plug-in units – for VME

3 U

04602058

6 U

04602059

for VME

� At 6 U the board position can be offset by 1 HP to the right by
swapping the top and bottom board supports; thus space is
created for SMD components on the left (solder) side; 
for board thickness 1.6 mm only

Delivery comprises (kit)

Order Information

Kits
Plug-in units with trapeziform extractor 
handle, type 1 – front panel, U-profile, 
shielded

5

4

12

13

14

7

8

9

11

6

2

3

1

7

9 8

8

14 13

9

11

4a

6

1a

2

3

1

4

12

Item Qty Description
3 U 6 U

1 1 1 Extractor handle, trapeziform type, PPE, grey, bottom
1a - 1 Extractor handle, trapeziform type, PPE, grey, top
2 1 2 Identification plate, Al, 1.5 mm, anodised, 

cut edges plain
3 1 2 Pivot bush, Ms
4 1 1 Board support, die-cast zinc, bottom
4a - 1 Board support, die-cast zinc, top
5 1 - Board support, die-cast zinc 
6 1 1 Front panel, U profile, for trapeziform extractor 

handle, front anodised, rear conductive
7 2 2 Alignment pin, pressed-in, stainless steel
8 2 2 Sleeve, PA, grey, up to 7 HP front panel width
8 4 4 Sleeve, PA, grey, from 8 HP front panel width
9 2 2 Collar screw, Pozidrive/slot, St, nickel-plated, 

M2.5 × 12.3, front panel width up to 7 HP
9 4 4 Collar screw, Pozidrive/slot, St, nickel-plated, 

M2.5 × 12.3, front panel width from 8 HP 
11 1 2 Raised countersunk panhead screw, M2.5 × 8
12 1 1 EMC gasket (textile)
13 2 2 Washer, A2.7, DIN 125
14 2 2 Pozidrive flathead screw, St, nickel-plated, 

M2.5 × 10

Width 3 U 6 U
HP Part no. Part no.
4 20848-485 20848-492
6 20848-487 20848-494
8 20848-489 20848-496
10 20848-490 20848-497
12 20848-491 20848-498

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 38  Mittwoch, 19. September 2012  1:05 13



7.39

Plug-in units – for VME

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

3 U

04602060

6 U

04602061

� At 6 U the board position can be offset by 1 HP to the right by 
swapping the top and bottom board supports; thus space is 
created for SMD components on the left (solder) side; 
for board thickness 1.6 mm only

Delivery comprises (kit)

Order Information

Kits
Plug-in units with trapeziform extractor 
handle, type 1 – front panel unshielded

5

4

13

14

8

9

11

6

2

3

1

9 8

8

14 13

9

11

4a

4

6

1a

2

3

1

Item Qty Description
3 U 6 U

1 1 1 Extractor handle, trapezium shape, PPE, grey, bottom
1a – 1 Extractor handle, trapezium shape, PPE, grey, top
2 1 2 Identification plate, Al, 1.5 mm, anodised, 

cut edges plain
3 1 2 Pivot bush, Ms
4 1 1 Board support, die-cast zinc, bottom
4a – 1 Board support, die-cast zinc, top
5 1 – Board support, die-cast zinc 
6 1 1 Front panel for trapeziform extractor handle, front 

anodised, rear irisdescent green chromated
8 2 2 Sleeve, PA, grey, up to 7 HP front panel width
8 4 4 Sleeve, PA, grey, from 8 HP front panel width
9 2 2 Collar screw, Pozidrive/slot, St, nickel-plated, 

M2.5 × 11 and 12.3, front panel width up to 7 HP
9 4 4 Collar screw, Pozidrive/slot, St, nickel-plated, 

M2.5 × 11 and 12.3, front panel width from 8 HP 
11 1 2 Raised countersunk panhead screw, M2.5 × 8
13 2 2 Washer, A2.7, DIN 125
14 2 2 Pozidrive flathead screw, St, nickel-plated, M2.5 × 10

Width 3 U 6 U
HP Part no. Part no.
4 20817-443 20817-448
5 20817-444 20817-449
6 20817-445 20817-450
7 20817-446 20817-451
8 20817-447 20817-452
10 20817-456 20817-458
12 20817-457 20817-459

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 39  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.40 Main Catalogue
E  10/2012

Plug-in units – for VME

Order Information

Individual 
components Front panels and EMC gaskets, for trapezoidal extractor handle, type 1

Front panel, 
U profile, 

shieldable

Textile EMC gasket Front panel, 
unshielded

04608091 BGA45760 04608092

Al profile, 
front anodised, 
rear conductive, 

alignment pin 
pressed-in, 

stainless steel

always fixed laterally on the front 
panel, in the groove of the profile,

textile gasket, core: foam, 
sleeve: textile cladding with 

CuNi coating,
UL 94 V-0, 

temperature range -40 ... 70 °C

front panel, Al, 
2.5 mm, 

front anodised, 
rear irisdescent 

green chromated

Width 1 piece (SPQ 5)1) PU 10 pieces PU 100 pieces 1 piece (SPQ 5)1)

HP

3 U Height
4 30848-461

21101-853 21101-854

30847-659
5 – 30847-660
6 30848-463 30847-661
7 – 30847-662
8 30848-465 30847-663
10 30848-466 30847-664

04608117 12 30848-467 30847-665

6 U Height
4 30848-468

21101-855 21101-856

30847-666
5 – 30847-667
6 30848-470 30847-668
7 – 30847-669
8 30848-472 30847-670
10 30848-473 30847-671

04608116 12 30848-474 30847-672
Dimensions see page  7.43  7.43
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard 
pack quantity (SPQ); please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU

4,07

2,5

4,07

2,5

7_2_steckbaugruppen_e.fm  Seite 40  Mittwoch, 19. September 2012  1:05 13



7.41

Plug-in units – for VME

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Order Information

Individual 
components Trapeziform extractor handles, type 1

Trapeziform extractor handle
black grey

04608093 04608094 04608117 04608116

handle closed laterally, PPE, UL 94 V-1, black; 
pivot bush; identification plate, Al, 1.5 mm, 

anodised, cut edges plain; 
board support die-cast zinc;

in the 6 U version, space can be created for 
SMD components on the left side by swapping 

the top and bottom handles and thus moving the 
PCB position 1 HP to the right

Width 1 piece (SPQ 10)1) 1 piece (SPQ 10)1)

HP
3 U Height
top

20817-329 20817-327
04608119

6 U Height
top

20817-330 20817-328

 bottom

20817-329 20817-327
04608118 bga42556

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

7_2_steckbaugruppen_e.fm  Seite 41  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.42 Main Catalogue
E  11/2013

Plug-in units – for VME

Order Information

Individual 
components Fixing material for trapeziform extractor handle, type 1

bga42545

Fixing material Item Required Qty Qty/PU Part no.
3 U 6 U

< 8 HP ≥ 8 HP < 8 HP ≥ 8 HP

Board support, die-cast zinc, with thread M2.5, 
for front panel and PCB fixing

5 1 2 2 4 1 piece 
(SPQ 10)1) 60807-181

06707050

Board support, plastic, PBT, UL 94 V-0, grey, 
with recess for hexagon nut M2.5, for fixing front panel

5a 1 2 2 4 1 piece 
(SPQ 10)1) 60807-183

AZA45177

Plastic sleeve, for form hole 5.9 x 3.3
PA, UL 90 V-2, grey

8 2 4 2 4 100 21100-464

aza45933

Metal sleeve, for form hole 5.9 x 3.3, press-in
Stainless steal

8a 2 4 – – 100 21100-662

aza45934

Pozidrive/slotted collar screw
M2.5 × 11, St, nickel-plated 9 2 4 2 4 100 21100-748

AZA46586 AZA46586

Pozidrive/slotted collar screw 
M2.5 × 12.3, St, nickel-plated 9a 2 4 2 4 100 21101-101

AZA46586 AZA46586

Raised Pozidrive countersunk screw 
M2.5 × 8, St, nickel-plated

11 2 2 2 2 100 21100-429

06702056

Washer
2.7 DIN 125, St, nickel-plated, 100 pieces

13 2 2 2 2 100 21100-721

AZA46586

Pozidrive panhead screw
M2.5 × 10, St, nickel-plated
for item 5

14 2 2 2 2 100 21101-220

AZA45177

Panhead screw, self-tapping
2.5 x 8, St, zinc-plated
for item 5b

14a 1 1 – – 100 21100-710

06702057

Hexagon nut
M2.5, nickel-plated steel
for item 5b

15 1 1 – – 100 21100-144

aza43239

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

8 / 8a

9 / 9a

11

13 15

5a

5

14 / 14a



7.43

Plug-in units – for VME

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Text

Text

Z Z

Z

Y Y

Y

A

B

12
2.

4

99

12
8.

4

5.0812.5

3.6 3.9

3

14
.74.
2

14
.6

7.455.08

2.
5

5 2.
5

6.
2

6.
2

ø 5.9 x 3.3

ø 5.9 x 3.3

ø 2.5 ø 2.5

A

B

25
5.

75

23
2.

35

26
1.

75

5.0812.5

3.6 3.9

3

14
.7

4.
2

14
.6

7.45

ø 2.5

ø 2.5

ø5.9 x 3.3

A

B

12
2.

4

99

12
8.

4

ø3

12.5

3.6 3.9
3

4.
2

14
.6

14
.7

7.455.08

ø5.9 x 3.3

A

B

25
5.

75

23
2.

35

26
1.

75

12.5

3.6 3.9

3

4.
2

14
.6

14
.7

7.45

A - A A - A

AA A A

ø2.5 ø2.5

Dimensions Front panels for trapezoidal extractor handles, type 1, 
shielded/unshielded

04608117 04608116

04603064 04603063

3 U 6 U 3 U 6 U

Dimensions table
Width A B

HP mm mm
4 19.98 –

5 25.06 –

6 30.14 –

7 35.22 –

8 40.30 20.32
10 50.46 30.48
12 60.62 40.64

7_2_steckbaugruppen_e.fm  Seite 43  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.44 Main Catalogue
E  10/2012

Plug-in units – for Multibus II

for Multibus II

Order Information

Individual 
components Front panels/extractor handles for Multibus® II, symmetrical/SMDversion

U front profile Mounting block Extractor handle for Multibus® II
symmetrical handle SMD handle

for 

D-Sub connector (50 pin)

grey, RAL 7032 grey, RAL 7032

04608095 04608098 04608099 04608108

Al extrusion, 1 mm for fixing D-Sub 
connectors 50-pin, 

thread on front UNC4/40;
required quantity: 

for 6 U 1x, for 9 U 2x

extractor handle for Multibus® II, PC, UL 94 V-0; 
bearing, Zn die-cast, nickel-plated; 

slotted cheesehead screw, M2.5 x 6, 
Pozidrive/slotted collar screw, M2.5 × 12.3, St, nickel-plated

in the 6 U version, space can be created for SMD components 
on the left side by swapping the top and bottom handles and 

thus moving the PCB position 1 HP to the right

Width 1 piece (SPQ 5)1) 1 piece (SPQ 10)1) 1 piece (SPQ 10)1) 1 piece (SPQ 10)1)

HP
6 U 
Height

6 U Height
top

30829-001 60829-008

20829-011 20829-004

4  bottom

20829-011 20829-003

9 U 
Height

9 U Height
top

30829-007 60829-008

20829-011 20829-004

4  bottom

20829-011 20829-003
04608120

Dimensions see page  7.45  7.45  7.45  7.45
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU

4,07

2,5
4,07

9,15

(SMD)

7_2_steckbaugruppen_e.fm  Seite 44  Mittwoch, 19. September 2012  1:05 13



7.45

Plug-in units – for Multibus II

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Text

Text

H 2
3

0
,4

6a

7

8

4.7

30.9

3.5

11
.720

.6

20
20

4.
07

1)

1)

4.
07

+
5.

08
(S

M
D

)

8.2

5.5

5

Dimension 
drawings Front panels, U profile / front panel for Multibus® II

6/9 U 6 U

04608120 04608136

Dimensions 
table
Height Height

U mm
6 230.4
9 363.7

A4-2580 BGA46120

Dimensions Extractor handles, mounting block for Multibus® II

04608121 BGA42549 for D-Sub connector (50 pin)

BGA42585

gba42579

7_2_steckbaugruppen_e.fm  Seite 45  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.46 Main Catalogue
E  10/2012

Plug-in units – for IEC 60297, key form 1

for IEC 60297, key form 1

Order Information

Individual 
components Extractor handles in key form 1

Extractor handle Front panel Fixing clip
black grey

04608101 04608102 04608103 bga42544

extractor handle in key form 1, PC, 
UL 94 V-0; bearing Zn die-cast, 

nickel-plated; slotted cheesehead 
screw, M2.5 x 6 (fitted);

in the 6 U version, space can be 
created for SMD components on 
the left side by swapping the top 

and bottom handles and thus 
moving the PCB position 1 HP to 

the right

Al, 2.5 mm;
available on 

request

for fixing PCB to 
the front panel 

(blind hole X2.6, 
depth 1.3 mm); 
also for SMD 
applications; 

clip, PPE, 
UL 94 V-0, red

Width 1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

PU 100 pieces
HP

3 U Height
 bottom

20817-345 20817-325 – –
04608123

6 U Height
top

20817-346 20817-326 –

21100-719 bottom

20817-345 20817-325 –
04608122

Dimensions see page  7.48  7.48  7.48
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU

2,5

7_2_steckbaugruppen_e.fm  Seite 46  Mittwoch, 19. September 2012  1:05 13



7.47

Plug-in units – for IEC 60297, key form 1

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  11/2013

Order Information

Individual 
components Fixing material for extractor handle in key form 1

bga42545

Fixing material Item Required Qty Qty/PU Part no.
3 U 6 U

Board support, die-cast zinc, with thread M2.5, 
for front panel and PCB fixing

5 1 – 1 piece (SPQ 
10)1) 60807-181

06707050

Board support, plastic, PBT, UL 94 V-0, grey, 
with recess for hexagon nut M2.5, for fixing front panel

5a 1 – 1 piece (SPQ 
10)1) 60807-183

AZA45177

Plastic sleeve, for form hole 5.9 x 3.3
PA, UL 90 V-2, grey

8 1 – 100 21100-464

aza45933

Metal sleeve, for form hole 5.9 x 3.3, press-in
Stainless steal

8a 1 – 100 21100-662

aza45934

Pozidrive/slotted collar screw
M2.5 × 11, St, nickel-plated 9 2 2 100 21100-748

AZA46586 AZA46586

Pozidrive/slotted collar screw 
M2.5 × 12.3, St, nickel-plated 9a 2 2 100 21101-101

AZA46586 AZA46586

Raised Pozidrive countersunk screw 
M2.5 × 8, St, nickel-plated

11 1 – 100 21100-429

06702056

Washer
2.7 DIN 125, St, nickel-plated, 100 pieces

13 2 2 100 21100-721

AZA46586

Pozidrive panhead screw
M2.5 × 10, St, nickel-plated
for item 5

14 2 2 100 21101-220

AZA45177

Pan head screw, self-tapping
2.5 x 8, St, zinc-plated
for item 5b

14a 1 – 100 21100-710

06702057

Hexagon nut
M2.5, nickel-plated steel
for item 5b

15 3 6 100 21100-144

aza43239

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

8 / 8a

9 / 9a

11

13 15

5a

5

14 / 14a



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.48 Main Catalogue
E  10/2012

Plug-in units – for IEC 60297, key form 1

A
f

2
,5

D
IN

7
4

1
,5

1
,5

3

6
,1

6
,1

9
9

,6

2
3

3
,4

11
4

,3

2,6 2,614,7
14,7

7,45

Ø 5,9 x 3,1

20 20

2,5

2,5

Dimensions Extractor handles/front panels key form 1

04608089 04603055

04603056 04603057

3 U 6 U

7_2_steckbaugruppen_e.fm  Seite 48  Mittwoch, 19. September 2012  1:05 13



7.49

Plug-in units – for IEC 60297, key form 2

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

for IEC 60297, key form 2

Order Information

Individual components Extractor handles in key form 2

Extractor 
handle

Front panel

black

04608104 04608106

extractor handle, 
PBT, UL 90 V-0; 

bearing 
Zn die-cast, 

nickel-plated; 
incl. assembly 
kit for handle 

mounting

Al, 2.5 mm;
available on 

request

Width 1 piece 
(SPQ 10)1)

HP
3 U Height
top

20808-137 –
04608124

6 U Height
top

20808-137 –

 bottom

20808-137 –
04608125

Dimensions see page  7.51  7.51
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is 
exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU

7_2_steckbaugruppen_e.fm  Seite 49  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.50 Main Catalogue
E  11/2013

Plug-in units – for IEC 60297, key form 2

Fixing material for extractor handles, key form 2

Individual components Fixing material for extractor handles, key form 2

bga42545 04608137

Fixing material Item Required Qty Qty/PU Part no.
3 U 6 U

Board support, die-cast zinc, with thread M2.5, 
for front panel and PCB fixing 5 1 2 1 piece 

(SPQ 10)1) 60807-181

06707050

Board support, plastic, PBT, UL 94 V-0, grey, 
with recess for hexagon nut M2.5, for fixing front panel

5a 1 2 1 piece 
(SPQ 10)1) 60807-183

AZA45177

Plastic sleeve, for form hole 5.9 x 3.3
PA, UL 90 V-2, grey

8 1 – 100 21100-464

aza45933

Metal sleeve, for form hole 5.9 x 3.3, press-in
Stainless steal

8a 1 – 100 21100-662

aza45934

Pozidrive/slotted collar screw
M2.5 × 11, St, nickel-plated 9 2 2 100 21100-748

AZA46586

Pozidrive/slotted collar screw 
M2.5 × 12.3, St, nickel-plated 9a 2 2 100 21101-101

AZA46586

Raised Pozidrive countersunk screw 
M2.5 × 8, St, nickel-plated

11 1 – 100 21100-429

06702056

Washer
2.7 DIN 125, St, nickel-plated, 100 pieces

13 2 2 100 21100-721

AZA46586

Pozidrive panhead screw
M2.5 × 10, St, nickel-plated
for item 5

14 2 2 100 21101-220

AZA45177

Panhead screw, self-tapping
2.5 x 8, St, zinc-plated
for item 5b

14a 1 – 100 21100-710

06702057

Hexagon nut
M2.5, nickel-plated steel
for item 5b

15 3 – 100 21100-144

aza43239

PCB bracket
4 clearance holes for front panel/PCB fixing, 
4 recesses for hexagon nuts; PBT, UL 94 V?0, red

16 1 2 1 piece 
(SPQ 10) 60807-011

04608138

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

8 / 8a

9 / 9a

11

13 15

5a

5

14 / 14a

16

15



7.51

Plug-in units – for IEC 60297, key form 2

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Text

Text

2
0

35

6,1

3,57

99
999911

8,
2

3,
3

2,
5

3

4,
5

4,
5

7,457,45

5,085,08

ø2,5ø2,5

ø5,9

2020

24
1,

35

13
3,

35

A - A

ø2,5

A AA A

Dimensions Handles/front panels key form 2

04608124 04608125

BGA42573 BGA42578

3 U 6 U

2
0

35

6,1

3,57

99
999911

8,
2

3,
3

2,
5

3

4,
5

4,
5

7,457,45

5,085,08

ø2,5ø2,5

ø5,9

2020

24
1,

35

13
3,

35

A - A

ø2,5

A AA A

Dimensions Drill hole dimensions on the PCB key form 2

3 U 6 U

BGA43076 BGA43077

7_2_steckbaugruppen_e.fm  Seite 51  Samstag, 13. Oktober 2012  10:53 10



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.52 Main Catalogue
E  10/2012

Plug-in units – for IEC 60297, trapeziform

3 U

04602062

6 U

04602063

for IEC 60297, trapeziform

� Front panel, U-profile, shielded

� Handle without extraction function

Delivery comprises

Order Information

Kits Plug-in unit with static trapeziform handle

14

13

7

8

9

11

11

6

2

1

4

12

Item Qty Description
3 U 6 U

1 1 2 Plastic handle, trapeziform, PPE, grey
2 1 2 Identification plate, Al, 1.5 mm, anodised, 

cut edges plain
4 2 4 Board support, die-cast zinc
6 1 1 Front panel, U profile, for trapeziform handle, 

front anodised, rear conductive
7 2 2 Alignment pin, pressed-in, stainless steel
8 2 2 Sleeve, PA, grey, up to 7 HP front panel width
8 4 4 Sleeve, PA, grey, from 8 HP front panel width
9 2 2 Pozidrive/slotted collar screw, St, nickel-plated, 

M2.5 × 11 and 12.3, front panel width up to 7 HP
9 4 4 Pozidrive/slotted collar screw, St, nickel-plated, 

M2.5 × 11 and 12.3, front panel width from 8 HP
11 1 2 Raised countersunk screw, St, nickel-plated, 

M2.5 × 8
12 1 1 EMC sealing (textile)
13 2 4 Washer, A2.7, DIN 125
14 2 4 Pozidrive flathead screw, St, nickel-plated, 

M2.5 × 10
15 1 2 Hexagon nut, St, nickel-plated, M2.5
16 1 2 Pozidrive flathead screw, St, nickel-plated, 

M2.5 × 12
17 1 2 Pozidrive flathead screw, St, nickel-plated, 

M2.5 × 16

Width 3 U 6 U
HP Part no. Part no.
3 20848-663 20848-671
4 20848-664 20848-672
5 20848-665 20848-673
6 20848-666 20848-674
7 20848-667 20848-675
8 20848-668 20848-676
10 20848-669 20848-677
12 20848-670 20848-678

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 52  Mittwoch, 19. September 2012  1:05 13



7.53

Plug-in units – for IEC 60297, trapeziform

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

3 U

04602064

6 U

04602065

� Front panel unshielded

� Handle without extraction function

Delivery comprises

Order Information

Kits Plug-in unit with static trapeziform handle

14

13

8

9

11

6

1

17

2

9 8

16

15

4

14

13

8

9

11

11

6

2

1

4

Item Qty Description
3 U 6 U

1 1 2 Plastic handle, trapeziform, PPE, grey
2 1 2 Identification plate, Al, 1.5 mm, anodised, 

cut edges untreated
4 2 4 Board support, die-cast zinc
6 1 1 Front panel for trapeziform handle, 

front anodised, rear irisdescent green chromated
8 2 2 Sleeve, PA, grey, up to 7 HP front panel width
8 4 4 Sleeve, PA, grey, from 8 HP front panel width
9 2 2 Pozidrive/slotted collar screw, St, nickel-plated, 

M2.5 × 11 and 12.3, front panel width up to 7 HP
9 4 4 Pozidrive/slotted collar screw, St, nickel-plated, 

M2.5 × 11 and 12.3, front panel width from 8 HP
11 1 2 Raised countersunk screw, St, nickel-plated, 

M2.5 × 8
13 2 4 Washer, A2.7
14 2 4 Pozidrive flathead screw, St, nickel-plated, M2.5 × 8
15 1 2 Hexagon nut, St, nickel-plated, M2.5
16 1 2 Pozidrive flathead screw, St, nickel-plated, 

M2.5 × 12
17 1 2 Pozidrive flathead screw, St, nickel-plated, 

M2.5 × 16

Width 3 U 6 U
HP Part no. Part no.
3 20818-017 20809-507
4 20818-018 20818-025
5 20818-019 20818-026
6 20818-020 20818-027
7 20818-021 20818-162
8 20818-022 20818-028
10 20818-023 20818-029
12 20818-024 20818-120

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 53  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.54 Main Catalogue
E  10/2012

Plug-in units – for IEC 60297, trapeziform

Order Information

Individual 
components Front panels for static cantilever handles 

Front panel, U-profile, shieldable Front panel 
unshielded

Front panel, 
U-profile

Textile EMC gasket

04608130 bga45760 04608131

Al extrusion, 
front anodised, 
rear conductive, 

alignment pin 
pressed-in, 

stainless steel 

always fixed laterally on the front 
panel, in the groove of the profile,

textile gasket, core: foam, 
sleeve: textile cladding with 

CuNi coating,
UL 94 V-0, 

temperature range -40 ... 70 °C

front panel, 
Al 2.5 mm; 

front anodised; 
rear iridescent 

green 
chromated

Width 1 piece 
(SPQ 5)1)

PU 10 pieces PU 100 pieces 1 piece 
(SPQ 5)1)

HP
3 U Height

3 30849-086

21101-853 21101-854

30847-602
4 30849-087 30847-603
5 30849-088 30847-604
6 30849-089 30847-605
7 30849-090 30847-606
8 30849-091 30847-607
10 30849-092 30847-608

04608126 12 30849-093 30847-609

6 U Height
3 30849-097

21101-855 21101-856

30847-625
4 30849-098 30847-626
5 30849-099 30847-627
6 30849-100 30847-628
7 30849-101 –
8 30849-102 30847-630
10 30849-103 30847-631

04608127 12 30849-104 –
Dimensions see page  7.58  7.58
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard 
pack quantity (SPQ); please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU

4,07

2,5

4,07

2,5

7_2_steckbaugruppen_e.fm  Seite 54  Mittwoch, 19. September 2012  1:05 13



7.55

Plug-in units – for IEC 60297, trapeziform

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Order Information

Individual 
components Static trapeziform handle

Plastic handle in trapeziform Al profile handle

Trapeziform 
handle
black

Trapeziform 
handle
grey

Fixing clip Handle

item 20

Fixing part 
for Al profile 

handle

item 21

Square nut

item 22

04608132 04608133 04808064 04608134 04608135 06707050

handle: PPE, UL 94 V-1; 
identification plate: Al, 1.5 mm, 

anodised, cut edges plain; 
please order clip separately; 

required quantity:
1 handle for 3 U, 2 handles for 6 U

clip, PPE, 
UL 94 V-0, 

black,
mounting aid 
from 5 HP to 

42 HP

Al extrusion, 
anodised; 

fixing part, POM, 
black; 

square nut, St, 
nickel-plated; 
at length of 

1000 mm only 
Al extrusion

fixing part, POM, 
black

DIN 562, M2.5, 
St, nickel-plated

Width 1 piece 
(SPQ 5)1)

1 piece 
(SPQ 5)1)

PU 100 pieces 1 piece 
(SPQ 10)1)

PU 100 pieces PU 100 pieces
HP

3 / 6 U Height
3 20809-396 20809-294

21101-239

20809-281

– –

4 20809-397 20809-295 20809-282
5 20808-080 20808-003 20809-283
6 20808-081 20808-060 20809-284
7 20808-082 20808-061 20809-285
8 20808-083 20808-062 20809-286
9 20808-084 20808-063 20809-287
10 20808-085 20808-004 20809-288
12 20808-086 20808-064 20809-289
14 20808-087 20808-065 20809-290
21 20808-088 20808-066 20809-291
28 20808-089 20808-067 20809-292
40 20808-090 20808-009 –
42 20808-091 20808-068 20809-293
61 20808-092 20808-012 –

04608128 04608129

1000 
mm – – – 30809-428 21100-476 21100-359

Fixing material see page  7.57
Item 15, 16, 17

Dimensions see page  7.57  7.57  7.59  7.59  7.59
1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
lease order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU

20

22

21

7_2_steckbaugruppen_e.fm  Seite 55  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.56 Main Catalogue
E  10/2012

Plug-in units – for IEC 60297, trapeziform

Individual 
components PCB bracket for static trapeziform handle

Drill hole dimensions on PCB

04609052 3 HE 6 HE bga43076 bga43077

Item Required Qty Qty/PU Part no.
3 U 6 U

PCB bracket
4 clearance holes for front panel/PCB fixing, 
4 recesses for hexagon nuts; PBT, UL 94 V-0, red

5 1 2 1 piece 
(SPQ 10)1) 60807-011

PCB bracket
4 threads M2.5 for front panel/PCB fixing, 
PBT, UL 94 V-0, grey, 1 piece

5a 1 2 1 piece 
(SPQ 10)1) 60807-211

AZA45177

PCB bracket
Clearance hole for front panel fixing, with recess for hexagon nut, 
drill hole for self-tapping screw for PCB fixing, 
PBT, UL 94 V-0, grey, 1 piece

5b 2 4 1 piece 
(SPQ 10)1) 60807-183

AZA45177

PCB bracket
2 threads M2.5 for front panel/PCB fixing, die-cast zinc, 1 piece

5c 2 4 1 piece 
(SPQ 10)1) 60807-181

06707050

PCB bracket
Thread M2.5 for front panel fixing, clearance hole for PCB fixing, 
die-cast zinc, 1 piece

5d 2 4 1 piece 
(SPQ 10)1) 60807-203

06707050

PCB bracket
4 M2.5 threads for fixing front panel/PCB for recessed PCB 
mounting (20 mm), mounting depth 192.24 mm, St, zinc-plated; 
not for europacPRO, multipacPRO, ratiopacPRO, propacPRO or 
compacPRO, 1 piece

5e 1 2 1 piece 
(SPQ 10)1) 30808-871

AZA46586

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

5 / 5a

5c / 5d

5b

5e

7_2_steckbaugruppen_e.fm  Seite 56  Mittwoch, 19. September 2012  1:05 13



7.57

Plug-in units – for IEC 60297, trapeziform

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  11/2013

Individual 
components Fixing material for static trapeziform handle

3 U 6 U

top

bottom

04609053 04609054

Item Required Qty Qty/PU Part no.
3 U 6 U

< 8 HP ≥ 8 HP < 8 HP ≥ 8 HP

Plastic sleeve, for form hole 5.9 x 3.3
PA, UL 90 V-2, grey 8 2 4 2 4 100 21100-464

aza45933

Metal sleeve, for form hole 5.9 x 3.3, press-in
Stainless steal 8 2 4 2 4 100 21100-662

aza45934

Metal sleeve, for form hole 5.9 x 3.3, to press-in
Nickel-plated brass 8a 2 4 2 4 100 21100-660

aza45934

Pozidrive/slotted collar screw
M2.5 × 11, St, nickel-plated 
not for europacPRO and cases

9 2 4 2 4 100 21100-748

AZA4658 AZA46586

Pozidrive/slotted collar screw 
M2.5 × 12.3, St, nickel-plated 9a 2 4 2 4 100 21101-101

AZA4658 AZA46586

Raised Pozidrive countersunk screw 
M2.5 × 8, St, nickel-plated 11 1 1 2 2 100 21100-429

06702056

Washer
2.7 DIN 125, St, nickel-plated, 100 pieces 13 2 2 4 4 100 21100-721

AZA46586

Pozidrive panhead screw
M2.5 × 8, nickel-plated steel
if using item 13

14 2 2 4 4 100 21101-069

06702057

Panhead screw, self-tapping
2.5 x 8, St, zinc-plated
for items 5 and 5b

14a 1 1 – – 100 21100-710

06702057

Hexagon nut
M2.5, nickel-plated steel
for items 5 and 5b

5
15

4 4 8 8
100 21100-144

5b 2 2 4 4
aza43239

Pozidrive panhead screw
M2.5 × 12, nickel-plated steel 16 1 1 2 2 100 21101-221

06702057

Pozidrive panhead screw
M2.5 × 16, nickel-plated steel 17 1 1 2 2 100 21101-222

06702057

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

14 / 14a

13

8 / 8a / 8b

9 / 9a

11

17

15

15

15

5 / 5a

5c / 5d

5b

5e

16

8 / 8a / 8b

9 / 9a

17

16

15

15

14 / 14a

13

8 / 8a / 8b

8 / 8a / 8b

9 / 9a

9 / 9a

11

11

5 / 5a

15

5c / 5d

5c / 5d

5b

15

5b

5e



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.58 Main Catalogue
E  10/2012

Plug-in units – for IEC 60297, trapeziform

Text

Text

Text

“Z” “Y”6.
2

6.
2

5 2.
5

ø 2.5

2.
5

“Z” “Y”

14
.7

99

7.45

7.45 7.45 7.45 7.455.08 5.08

5.08

5.08

5.08 5.08

n x 5.08

5.085.08

5.08

5.08 5.08

5.08 5.08 5.08

A
A A A

A

B
ø5.9 x 3.3

12
2.

4
3

12
8.

4

3 TE 4 TE 5 TE 6 TE >6 TE

“Z” “Y”

3 TE 4 TE 5 TE 6 TE >6 TE

14
.7

14
.7

99
99

7.45

7.45 7.45 7.45 7.455.08 5.08 5.08 5.08 5.08

A
A A A

A

B
ø5.9 x 3.3

25
5.

75
3

26
1.

75

5.08

5.08

5.08 5.08

n x 5.08

5.085.08

5.08

5.08 5.08

Dimensions Front panels, U profile, shieldable for static trapeziform handle

04608126 04608127 04608111

04603064 04608110

3 U 6 U

Dimensions table
Width A B

HP mm mm
3 14.90 -
4 19.98 -
5 25.06 -
6 30.14 -
7 35.22 -
8 40.30 25.40

10 50.46 35.56
12 60.62 45.72

A - A A - A

A A

A

A A

A

ø2.5 ø2.5

7.45

7.45

99
13

3.
4

12
2.

4

12
8.

4

14
.7

9999
14

.7

DD

CC

25
5.

8
33

26
1.

8

ø 5.9 x 3.3

ø 5.9 x 3.3

ø 2.5ø 2.5

A

A

B

B

Dimensions Front panels for static trapeziform handle

04608126 04608127 Dimensions table
Width A B C D

HP mm mm mm mm
3 14.90 - - -
4 19.98 - - -
5 25.06 - 10.16 -
6 30.14 - - 15.24
7 35.22 - - 20.32
8 40.30 25.40 - 25.40

10 50.46 35.56 - 35.56
12 60.62 45.72 - 45.72

04603053

3 U 6 U

7_2_steckbaugruppen_e.fm  Seite 58  Mittwoch, 19. September 2012  1:05 13



7.59

Plug-in units – for IEC 60297, trapeziform

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Text

Main CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Dimensions Static plastic handles, trapeziform

Dimensions table
Item Width Width

HP mm
1a 3 13.8
1a 4 18.9
1c 5 24.0
1c 6 29.0
1c 7 34.1
1c 8 39.2
1c 9 44.3
1c 10 49.4
1c 12 59.6
1c 14 69.7
1c 21 105.2
1c 28 140.8
1c 40 201.8
1c 42 212.0
1c 61 308.5

BGA46447 A4--328a A4--328c

Dimensions Aluminium extrusion handles

04602069 A4-328d

20

22

21

21

21

Dimensions table
Item Width Width

20 HP mm
20 3 13.8

20 4 18.9

20 5 24.0

20 6 29.0

20 7 34.1

20 8 39.2

20 9 44.3

20 10 49.4
20 12 59.6

20 14 69.7

20 21 105.2

20 28 140.8

20 40 201.8

20 42 212.0

20 - 1000

7_2_steckbaugruppen_e.fm  Seite 59  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.60 Main Catalogue
E  10/2012

Plug-in units – with mechanical shielding

04602077

a4-237

with mechanical shielding

� Usable connectors in accordance with EN 60603 (DIN 41612): 
Construction type B, C, D, F, H, R;

Delivery comprises (kit)

Order Information

Note
� Keying/coding with separate keying/coding strip is not possible
� Please order shielding plates separately

Plug-in unit with mechanical shielding,
3 U kits

� Mechanical protection of sub-assembly

� Earthing of shielding panels possible by Faston connectors 
6.3 × 0.6 mm

� For euroboards 100 × 160 mm

Handles 
without extraction function

Handles 
with extraction function

04694001 04692003 04692005

3 U kit, shielding component side, 
handles with/without extraction function

1

4

3

2

24,60

1

0,8

Item Qty Description
1 1 Front panel, AI, 2.5 mm, 

front: anodised, rear: irisdescent green chromated
2 1 Trapeziform handle, PPE, UL 94 V-1, grey
3 1 Board support, PBT, UL 94 V-0, red
5 1 Assembly kit (also for shielding panels)

Width H Plug-in unit without 
extractionfunction

Plug-in unit with 
extractionfunction

HP mm Part no. Part no.
6 24.60 20809-502 20809-516
Item 4 Shielding panel 
component side for 7 HP 
front panel width, stainless 
steel, 0.8 mm, 1 piece 

20809-371 20809-371

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 60  Mittwoch, 19. September 2012  1:05 13



7.61

Plug-in units – with mechanical shielding

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

04602078

a4-236a

� Usable connectors in accordance with EN 60603 (DIN 41612): 
Construction type B, C, D, F, H, R; 

Delivery comprises

Order Information

Note
� Keying/coding with separate keying/coding strip is not possible
� Where the shielding plate is used for the solder side, the PCB is 

offset to the right by 1 HP

3 U kits, both sides shielded 
(solder/component side), 
handles with/without extraction function

1

3

2

4

5

1

0,8

1,6

6

4 - 7 TE

4,07 + 1TE

Item Qty Description
1 1 Front panel, AI, 2.5 mm, 

front: anodised, rear: irisdescent green chromated
2 1 Trapeziform handle, without extraction function, PPE,

UL 94 V-1, grey
3 2 Board support, PBT, UL 94 V-0, red
6 1 Assembly kit (also for shielding panels)

Width H Plug-in unit 
without extraction 

function

Plug-in unit 
with extraction 

function
HP mm Part no. Part no.
4 9.60 20809-495 –
5 14.70 20809-496 20809-511
6 19.80 20809-497 20809-512
7 24.90 20809-498 20809-513
Item 4 Shielding panel 
component side for 4 HP front 
panel width, stainless steel, 
0.8 mm, 1 piece 

20809-329 20809-329

Item 4 Shielding panel 
component side or 5 HP front 
panel width, stainless steel, 
0.8 mm, 1 piece 

20809-357 20809-357

Item 4 Shielding panel 
component side for 6 HP front 
panel width, stainless steel, 
0.8 mm, 1 piece 

20809-359 20809-359

Item 4 Shielding panel 
component side for 7 HP front 
panel width, stainless steel, 
0.8 mm, 1 piece 

20809-371 20809-371

Item 5 Shielding panel on 
solder side, stainless steel, 
0.8 mm, 1 piece 

30809-571 30809-571

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 61  Mittwoch, 19. September 2012  1:05 13



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.62 Main Catalogue
E  11/2013

Plug-in units – with mechanical shielding

11092008

For PCBs 100 × 160 mm

LKA40520

For PCBs 233.35 × 160 mm 

LKA30451

Main Catalogue

� Mechanical protection of the solder side

Order Information

SPQ (standard pack quantity): Part number includes 1 piece, 
but delivery is exclusively made in standard pack quantity: 
please order at least 10 pieses of PCB covers or a multiple 

PCB cover for euroboards

Description Qty Part no.
PCB cover (thickness 0.9 mm) for euroboards 
(100 x 160 mm), PBT, black, max. operating 
temperature without permanent deformation 
55 °C

1 piece 
(SPQ 10) 61000-007

PCB cover (thickness 0.9 mm) with similar 
temperature expansion coefficients to FR4 
PCB; for euroboards (100 x 160 mm), LCP, 
UL 94 V-0, white, max. operating temperature 
without permanent deformation 85 °C

1 piece 
(SPQ 10) 61000-177

PCB cover for double euroboards 
(233.35 x 160 mm), PP, UL 94 V-0, black

1 piece 
(SPQ 10) 61000-012

Slotted flathead screw 
M2.5 × 6, height of head 1.2 mm, PU 100 pieces 21102-007

Slotted flathead screw 
M2.5 × 12, height of head 1.2 mm, PU 100 pieces 21102-008

For further information www.schroff.biz/oneclick
oneClick search code = Part no.



7.63

Plug-in units – with mechanical shielding

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

12303051

Main Catalogue

� Mechanical protection of solder side

� Cover is perforated for better cooling of components

Delivery comprises

Order Information

Note
� Fixing clips are required for mounting the perforated covers; 

please order separately

PCB cover for CompactPCI

Item Qty Description
1 1 Cover, plastic, 0.5 mm, antistatic, perforated,

UL 94 V-0; 
max. operating temperature 65 °C, 
max. continuous operating temperature 55 °C

Height Depth Part no.
U mm
6 80 24579-039
3 160 24579-037
6 160 24579-038
Fixing clips PU 100 pieces 21101-914

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 63  Freitag, 5. Oktober 2012  11:27 11



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Coated FOGRA39 \050ISO 12647-2:2004\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.6
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType true
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 1
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /FlateEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /DEU <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks true
      /AddColorBars true
      /AddCropMarks true
      /AddPageInfo true
      /AddRegMarks true
      /BleedOffset [
        14.173230
        14.173230
        14.173230
        14.173230
      ]
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.284 858.898]
>> setpagedevice




